Tidaholms BK
Partavling 9 2020-03-10

Partavling, 7 bord, 14 par. Antal brickor: 24. Medel: 144.0.

Plac Par Poéng % Namn MID Klubb
1 4 199 69.10 Freddy Sandahl - Christer Assarsson 8324 7878  Tidaholms BK
2 8 183 63.54 Roland Karlsson - Karl-Axel Pettersson 1730 135 Tidaholms BK
3 1 181 62.85  Karl-Erik Karlsson - Arne Johansson 1577 7722 Stenstorps BK
4 7 150 52.08  Krister Andersson - Anders Rehn 59969 57236 Tidaholms BK
4 13 150 52.08  Bjorn Lénnemo - Rune Johansson 27671 93812 Skdvde BA - Tidaholms BK
6 11 144 50.00 Roland Hégbom - Torgny Joelsson 21122 21123 Tidaholms BK
7 6 142 49.31 Mats Bende - Christina Bende 89167 93060 Tidaholms BK
7 10 142 49.31 Jan-Ove Piehl - Bosse Karlsson 90109 57239 Tidaholms BK
9 14 141 48.96  Arnold Ivansson - Staffan Dverstorp 7721 58556  Stenstorps BK
10 9 136 47.22  Lars-Ove Larsson - Per-Erik Thurén 1729 1715  Tidaholms BK
11 5 126 43.75  Billy Gustafsson - Siv Arvidsson 57233 61549 Tidaholms BK
12 3 119 41.32  Christer Ferm - Maria Molin 61548 59246 Tidaholms BK
13 12 102 35.42 Irene Forss - Anna Maria Muys 61545 59251  Tidaholms BK
14 2 101 35.07 Lotta Karlsson - Sanna Lundgren 66823 66825 Tidaholms BK
1 Nord Ingen 2 Ost NS 3 Syd OV
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 6 56 0-1 *A 50 120 00| 2 5 2vS= +3 110 120 00|13 2 4v S+2 *6 480 12.0 0.0
2 5 44 0= *A -420 50 7.0| 8 14 44 O-2 A 100 100 20| 1 8 4v S+l T 450 10.0 2.0
3 11 44 O= *A -420 50 7.0| 3 11 INO= 46 -90 70 50| 4 12 4v S= 43 420 8.0 4.0
8 14 44 O= *A -420 50 7.0| 9 10 INV= v5 -90 70 50| 5 7 3vS= a2 140 6.0 6.0
9 10 44 O= *A -420 50 7.0| 4 6 14a0+1 +¢Q -110 40 80| 9 14 INS+1 46 120 40 8.0
12 7 44 O= *A -420 50 70|13 1 3NO= v2 -400 2.0 10.0|10 11 4vS-2 v2 -100 2.0 10.0
13 1 44 0= *A -420 50 7.0|12 7 34DS-3 +A -800 00 120 3 6 34 0= vT -140 0.0 12.0
4 Vast Alla 5 Nord NS 6 Ost OV
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 12 56 V+2 *7 -640 120 0.0(11 12 3NV-2 +K 100 120 00| 5 1 44DO-1 +5 200 11.0 1.0
13 2 3NO+4 %8 -720 100 2.0|14 10 240 +4 & -170 100 2.0|13 3 44 O-2 2 200 11.0 1.0
5 7 6NV +1 «9 -1470 6.0 6.0 4 7 540+1 ¢A -420 80 40| 4 7 340-1 *2 100 80 4.0
9 14 6NV +1 *9 -1470 6.0 6.0 2 9 3NV+2 T -460 60 6.0 6 8 3¢ N-1 &K -50 50 7.0
10 11 6NV +1 *6 -1470 6.0 6.0/13 3 3NO+3 49 -490 40 80|11 12 3¢ N-1 &K -50 50 7.0
1 8 7NO= v9 -2220 10 110( 5 1 3NV +4 43 -520 20 100| 2 9 2&V= +3 -90 2.0 10.0
3 6 7NV= *6 -2220 1.0 110| 6 8 6#0= A -920 0.0 12.0(14 10 24 O= aT -110 0.0 12.0
7 Syd Alla 8 Vast Ingen 9 Nord OV
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 10 44 S-1 v6 -100 120 00| 7 9 34 N= *2 140 120 00| 4 11 4v N= 4Q 420 120 0.0
7 9 3v0O= + K -140 80 40| 3 10 24 N= &8 110 100 20| 1 2 3vN-1 46 -50 10.0 20
13 4 3vO= +K -140 80 40|12 1 3#V-2 A 100 80 40|13 5 3#S-2 a4 -100 8.0 4.0
14 11 3v O = + K -140 80 40| 5 8 34N-1 *2 -50 50 7.0| 6 9 34V= vJ] -140 40 8.0
6 2 3v0O+1 K -170 30 90| 6 2 3a4N-1 *2 -50 50 7.0| 8 10 14 V+2 + K -140 40 8.0
12 1 3v O+1 &5 -170 30 90|13 4 44 N-2 8 -100 1.0 11.0(12 14 1a V+2 6 -140 40 8.0
5 8 4v 0= a5 -620 0.0 12.0|14 11 44 N-2 «8 -100 10 110| 7 3 34 V+1 *Q -170 0.0 12.0
10 Ost Alla 11 Syd Ingen 12 Vast NS
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 2 3NO-1 vT 100 90 30| 1 14 64 N= vK 980 120 00| 9 11 4v O-3 +5 150 120 0.0
4 11 3NO-1 v8 100 9.0 3.0| 7 10 3NN+3 ¢ Q 490 100 20| 1 14 34 N= vA 140 100 2.0
7 3 3NO-1 v8 100 90 3.0| 8 4 44 S+2 vJ] 480 80 40| 5 12 1vO= a5 -80 8.0 4.0
13 5 340-1 v9 100 9.0 3.0| 9 11 44 S+1 vJ] 450 6.0 6.0 8 4 34N-1 vK -100 6.0 6.0
8 10 2¢ V= a7 -90 40 8.0(13 6 2NN+3 +Q 210 40 80| 2 3 1vO+1 5 -110 40 8.0
6 9 3NO= v8 -600 10 110 5 12 3#aN+3 ¢Q 170 20 100| 7 10 1vO+2 6 -140 1.0 11.0
12 14 3NO= v8 -600 1.0 11.0| 2 3 44 S-1 +8 -50 0.0 12013 6 1y O+2 +38 -140 1.0 11.0
13 Nord Alla 14 Ost Ingen 15 Syd NS
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 11 24 O-2 + K 200 120 00|13 7 6NS+1 «9 1020 120 00|14 3 3NN+3 LY 690 120 0.0
10 12 1¢ N+1 &3 90 100 20|14 2 B6NS= *9 990 100 20| 4 5 44 S+1 v6 650 100 20
14 2 INV= +Q -90 80 40| 6 1 3NN+2 a5 460 80 40| 7 2 5¢ N= aA 600 6.0 6.0
9 5 INN-1 43 -100 6.0 6.0 3 4 6NS-1 vT -50 30 90|10 6 3NN= v4 600 6.0 6.0
3 4 14 0+1 K -110 30 90| 8 11 6NS-1 v9 -50 30 90|11 1 5¢ N= *J 600 6.0 6.0
6 1 14 O+1 K -110 30 90| 9 5 6NN-1 48 -50 3.0 9.0| 9 12 24 S+3 +9 200 2.0 10.0
13 7 14 O+2 ¢K -140 0.0 12.0|10 12 6NN-1 a4 -50 30 90|13 8 5¢ N-1 2 -100 0.0 12.0
16 Vast OV 17 Nord Ingen 18 Ost NS
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 3 3¢ 0-2 &T 200 120 00| 8 3 24 N+1 ¢4 140 120 0011 7 240+2 vK -130 120 0.0
4 5 3¢ 0= &T -110 100 20|10 1 3¢ V= aA -110 100 20| 5 6 3NO= v3 -400 9.0 3.0
7 2 3#N-3 ¢A -150 80 4.0(13 9 INO+1 &2 -120 80 40|13 9 3NO= v5 -400 9.0 3.0
11 1 3¢ O+3 &T -170 6.0 60|11 7 3vO= aJ -140 60 6.0 8 3 3NV+1 v4 -430 40 8.0
9 12 3vS-4 *2 -200 40 80|14 4 INO+2 4 -150 40 80|10 1 3NV+1 v] -430 40 8.0
10 6 44 N-5 ¢A -250 20 100| 5 6 INO+4 &3 -210 20 10.0|12 2 3NV +1 v4 -430 40 8.0
13 8 54DN-4 +A -800 0.0 12012 2 4v 0= &2 -420 0.0 120(14 4 3NV +4 vJ -520 0.0 12.0
19 Syd OV 20 Vast Alla 21 Nord NS
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 3 49 S+2 &T 480 11.0 10| 5 14 2¢vDN+1 +¢K 870 120 00| 1 9 3NV-1 aT 50 11.0 1.0
13 10 4v S+2 s A 480 11.0 10| 9 4 3v S+l +9 170 100 2.0(13 11 3NV-1 3 50 11.0 1.0
11 2 5#S+1 vT 420 80 40|11 2 2y N+1 ¢K 140 80 40| 7 8 4vy N-1 *A -100 80 4.0
5 14 3vy N+1 &3 170 60 6.0 1 3 2¢V= aT -90 60 6.0/10 5 3¢ O+1 K -130 50 7.0
9 4 44 S+1 vT 150 40 80| 6 7 2¢ V+1 oT -110 40 80|12 3 3¢ V+1 vK -130 50 7.0
12 8 24 V= *A -110 20 10.0|13 10 2NO= v5 -120 20 10.0|14 6 3NV= a4 -400 2.0 10.0
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6 7 34V= vA -140 0.0 120(12 8 2NV +2 v2 -180 0.0 120 2 4 3NV+1 v5 -430 0.0 12.0
22 Ost OV 23 Syd Alla 24 Vst Ingen

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 3 24 N= *+Q 110 120 0.0|13 12 2NV-1 #9 100 120 00|14 7 3NN+3 &2 490 120 0.0

1 9 24S-1 v6 50 100 20| 3 5 3#N-1 a2 -100 100 20| 1 4 4v S+l a K 450 100 2.0
10 5 1vO= 6 -80 70 50| 1 4 24 0+1 YA -140 50 7.0|13 12 3NS+1 & K 430 8.0 4.0
14 6 1vO= vJ -80 70 50| 2 10 34 O= vA -140 50 7.0| 8 9 5¢ N= s A 400 6.0 6.0

7 8 240+= s A -90 40 80|11 6 24 O+1 &8 -140 50 7.0|11 6 3v S+2 s K 200 40 8.0
13 11 24O +1 45 -110 20 10.0|14 7 24 O+1 ¢5 -140 50 7.0| 3 5 34V-3 *A 150 2.0 10.0

2 4 1vO0+2 &5 -140 00 120 8 9 34 O0O+1 8 -170 0.0 120( 2 10 3NS-1 a4 -50 0.0 12.0
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